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Level 2 - Fortgeschritten — Blatt 1
Losung Al
a) V5:2v3:3V5:-5v3=2-3-5-5-v3-v5-v3=30-V52-V/32=30-5-3 =450

b) V11-3V15-2v10-v11-5/15=3-2-5-v112-4/152 =30-11-15 = 4950

C)  3V27 5v75:y3 = NTSVTE _3VEOSTS _ 3. 3. 5.\/75 = 4543 25 = 225V3

V3 V3
dy &20_ze2_2 1z_4 12
3/80 4V54 4 2 3 3 3
T 5E. 1 355 1 _ 592 355 _ 9 5_9
€) 5 162'(3 125'2m)'1w— 5-9V2- 23V5 105V2  105v2 23vV5 10 2 4
Losung A2
: 23 - _ 3V2v2av2
a)  3V22V3-VZ2iV3- 22 == o= =2V
) ) =, _ 3V5-5v52y5 _ 3525 _
b) 3V5:2V3-5VEiV3-2V5 === = =2 =55

o) 15v2:3V3 35V2 _ 1,53 72 _ 9 742 _ 63V2 _ 63V2+3 _ 216
2,5vV3-4vZ 55vV3 254 11+/3 20 11+/3  220v3  220V3+/3 220

d) 2v27-0,5V75 - 4V192: (V3 - 4V675 - 1,5V867) = gﬁ‘;sfjﬁjjg =

5,61/363'5,1v3434,4v/243 __ 5,6:11+/3:5,1:7V7-4,49y3 _ 5,6:11-5,1-7-4,4-9V/3

7,8v/567-2,74/108 - 7,8:947-2,7-6y/3 - 7,8:9-2,7-6
_87085,152
=—""-.43 56,58 -3
1137,24
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